
MD317-K/CK Assembly Instructions

1 x1

x1

x9
x4

x12

x12

x1

Parts 1：

2： 3：

2 x1

3

x14

x35

6
7

8

9

10

M8*1"

M8*∅22*2

M5

6

1

2

3 4

5

7

1

2

3
4

5

7

8
9

10

8

9

10

3

HB39A-Q Assembly Instructions

1 x1

x8

x8

Parts 1：

2 x1

M8*4/5"

M8*∅22*2

9

10

6

1

9

10

MD308-Q Assembly Instructions

x1

x3x4

Parts 1：

2：

2 x1

3

x15
7 6

x8 M89

x12 ∅10*4010

11

x112

x8

14mm

x88 M8*3-1/2"

1 x1 1 2

3

x14

4

5

6

7

10

8
11

9

12

MD316-Q Assembly Instructions

1 x1

x1

x3x4

x8

x4

x1

Parts 1：

2：

3：

2 x1

3

x14

x179 8

12

M8*1"

M8*∅22*2

M5

5
6

x1
x1

x413

x4 M814

x4 ∅10*4015 10

11

M8*3-1/2"

16

x117

x4

14mm

10

11

12

12

10 18

17

14

16
13

15

1

2

3

4

5

6

78

1
6

A

Note:Drawer bottom sketch illustrates
     how to remove the drawer. Press both
     switches marked “A” simultaneously
     and pull the drawer out.

x4
M8*∅16*2

18

x419
∅8*30

19


